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JSull marks for the questions.

Answer Q. Nos. 1 & 2 are Compulsory.

1. Fill in the blanks by correct words :

(a)”

g

1x10=10

" The definition of ‘The Law of Nations’

was given by Prof. Oppenheim in
—_ (1780, 1789, 1905)

The Law of Nations is the collection of
usages as decided in
(Queen-vs-Keyn, Derry- vs-Peek S. S
Lotus case) //

The principle of the continuity of states
is based on the (Individual
interest, Social interest, Common
interest) of International Community.

Contd.



(d)

, (e

@

(h)

Q)

1}

Write the following :

(@

As pointed out by Prof. Quiny Wright
Intervention may be diplomatic as well
as (military, social)

The methods of the Settlement of
International disputes may be divided
into (two, three, eight)

The Nuremberg Tribunal classified the -

war crimes punishable under

internatignal law into
e

.

essential
(two, three, four)

Neutrality has
elements.

Pacific blockade is the means of
settlement of international disputes.
(peaceful, coetcive)

The judges of ICJ are elected for a term
of . (9 years, 10 years, 12 years)

According to Article ~._ of the United
Nations Charter, the Secretariat is one of
the Principal organs of the U.N {5, 6, 7).

o 2x5=10

‘International Law is a law without
sanction’.
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(four, three, two)

(b) Consequences of recognition.
(¢) Prize Court.

(d) Essentials of blockade.

(e) Double veto.

-‘International law is the vanishing point of

jurisprudence’. Discuss. 12
Or

Distinguish between Public and Private

International Law. 12

What do you understand by ‘Recognitiori’ ?
Discuss the various theories of recognition

in International law. 6+6=12
Or

Distinguish between Extradition and

Asylum. : 12

What do you mean by Belligerent
occupation ? Write about the consequences
of belligerent occupation. 6+6=12

Or

What do you mean by ‘enemy character’?
Discuss the law relating to effect of transfer
of vessels and goods on enemy character.

: 4+8=12
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6. What are the consequences of carrying
' Contraband ? Distinguish between absolute
and conditional contraband. 6+6=12

Or

What do you mean by Neutrality ? Discuss
its features. How does it differ from non-
alignment ? ) 4+4+4=12

7. Discuss the origin and object of the League
of Nations. How does it differ from UNO

mainly ? Lo 6+6=12
or

What do you und stand by compulsory
jurisdiction of 1 rnatlonal Court of
Justice ? 12

If
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